PHYS 201

HWK-22

Name:__________________________

1. In the presence of gravity, the upper layers of a fluid push downward on the layers beneath, with the result that fluid pressure is related to depth. In an incompressible static fluid whose density is ρ, show that, 
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 where P1 is the pressure at one level, P2 is the pressure at a level that is h meters deeper, and g is the magnitude of the acceleration due to gravity. 
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2. A water tower is a familiar sight in many towns. The purpose of such a tower is to provide storage capacity and to provide sufficient pressure in the pipes that deliver the water to customers. The drawing shows a spherical reservoir that contains 5.25[image: image3.png]


×[image: image4.png]


105 kg of water when full. The reservoir is vented to the atmosphere at the top. For a full reservoir, find the gauge pressure that the water has at the faucet in (a) house A and (b) house B. Ignore the diameter of the delivery pipes.
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